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ǯŤŦŵɃŦ ŚŶũŻŦ ¨Ǯűŝ© ůəŵŝ ɓŘŷŭ ũǪũŲŴŭ œŻŭ ţŴŵœł ŔŴũŴŻŭŭ ǮǸŻȳ ɓŻƃŴŚŦŶƃ ŵũŵŪɇ ŵŚŵŦű ǮŬūŦ: Ǯɐŝ, ũŴŵŝ, ŵŧŵŭŘŻœ ŏœŻȳ ¨ŵşŦŴŭ 

Ǯűŝ© ũŮŴ Ųƃł ŏřŴƁŴő ǯŤŦŵɃŦ ŚŶũŻŦŭ ŵũŵŪɇ ǮǸŻȳ ŵũŵŪɇ ŧŴŭʋŵŭœ űɡœǭŬŷǶ ŋŧŴŤŴŦʜŻŮŴŻœ ňūŭŴ ŏŻœœŵŝ Ǯűŝ ũŻŮ ţŴŵœł  

ǮŬŻকŴŻŦŴ�উŧŴদŴŦ�ŵũŻůŰ�কŻŭ�űংŔǪŴ�ȺŴŭŴ�গŵŞত�ʟ-űūŴŻũůই�ūŸŮত�Ǯűট। Ǯűŝ ŵũŵŪɇ ŋŧŴŤŴŦ ȺŴŭŴ ŕŵŞŢł ǮŬūŦ- ɓţū ŵŢŦŵŝ ǮŚŴƁ ʍŴŪŴŵũœ 

űŅŔǪŴ 2, 4, 6. ŏŉ űŅŔǪŴʜŻŮŴ ŵŤŻƃ ŏœŵŝ Ǯűŝ ŕŞŦ œŭŴ ŬŴƃł ňũŴŭ, 10 ŇŻŧǸŴ ǮřŴŝ ǮūƀŵŮœ űŅŔǪŴʜŻŮŴ ŲŻŮŴ 2, 3, 5, 7. ŏŉ űŅŔǪŴʜŻŮŴ 

ŵŤŻƃő Ǯűŝ ŕŞŦ œŭŴ ŬŴƃł ŏŭœū, ŵũŵŪɇ ŵŦƃŻū ɓŴɏ űŅŔǪŴ ũŴ ŋŧŴŤŴŦ ŵŤŻƃ Ǯűŝ ŕŵŞŢ Ųƃł Ǯűŝ ŕŞŻŦ ǮŬűũ űŤűǪ ţŴŻœ ŢŴŻŤŭŻœ 

ǮűŻŝŭ ŋŧŴŤŴŦ ũŮŴ Ųƃł ǮűŝŻœ ŕŴŵšŵŢœŪŴŻũ ɓœŴŻůŭ ǮǸŻȳ ɓŵŢŵŝ ŋŧŴŤŴŦŻœ œūŴŭ űŴŲŴŻŬǪ ŧ Źţœ œŭŴ Ųƃł ňŭ űũʜŻŮŴ ŋŧŴŤŴŦŻœ 

ŏœűŴŻţ ŵȺŢŶƃ ũɅŦŶ ũŴ ¨{}© ȺŴŭŴ ňũȻ œŭŴ Ųƃł ǮŬūŦ, ňūŴŻŤŭ ɓţū ŋŤŴŲŭŻš ǮűŻŝŭ ŋŧŴŤŴŦ űūŸŲ 2, 4 ő 6 ŏŉ ŋŧŴŤŴŦʜŻŮŴŻœ 

ŏœűŴŻţ ŵŮŻŔ œūŴ ŵŤŻƃ ŧ Źţœ œŻŭ ŵȺŢŶƃ ũɅŦŶŭ űŴŲŴŻŬǪ ňũȻ œŭŻŮ ŧŴőƃŴ ŬŴŻũ {2, 4, 6}ł ŏœŉŪŴŻũ 10 ǮţŻœ ǮřŴŝ űũʜŻŮŴ ǮūƀŵŮœ 

űŅŔǪŴŭ Ǯűŝ {2, 3, 5, 7}ł  
 

 

ŨŴŭŵŤŻŦŭ ǮɷŵšœŻǸ 60 ŚŦ ŵůǸŴţǭŶ ŭŻƃŻřł ŨŴŭŵŤŦ ŢŴŭ ǮɷŵšœŻǸ ŵůǸŴţǭŶŻŤŭ ūŻťǪ ŏœŵŝ Śŵŭŧ 

œŭŻŮŴł ŚŵŭŻŧ Ǯű Ũŷ ŝũŮ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶ ŏũŅ ŵǷŻœŝ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶŻŤŭ 
ŏœŵŝ ŢŴŵŮœŴ œŭŻŮ  ŢŴŵŮœŴ ŕŞŻŦŭ űūƃ ŨŴŭŵŤŦ ǮŤŔŻŮŴ ŵœřŷ ŵůǸŴţǭŶ ŋŪƃ ǮŔŮŴŉ ŧřɃ œŻŭ 

ŏũŅ ŵœřŷ űŅŔǪœ ŵůǸŴţǭŶ Ũŷ ŝũŮ-ŵǷŻœŝ ǮœŴŻŦŴ ǮŔŮŴŻŢŉ ňȄŲŶ Ŧƃł ŢŴŭ ŢŴŵŮœŴ ŇʞŬŴƃŶ, 25 
ŚŦ ŵůǸŴţǭŶ ŵǷŻœŝ ŧřɃ œŻŭ, 20 ŚŦ ŵůǸŴţǭŶ Ũŷ ŝũŮ ŧřɃ œŻŭ ŏũŅ 10 ŚŦ ŵůǸŴţǭŶ ŋŪƃ ǮŔŮŴŉ 

ŧřɃ œŻŭł 
�  ǮŢŴūŭŴ ŵœ ũŮŻŢ ŧŴŭŻũ ŨŴŭŵŤŻŦŭ ǮɷŵšœŻǸ ŏŭœū œŢŚŦ ŵůǸŴţǭŶ ňŻř ŬŴŭŴ ǮœŴŻŦŴ ǮŔŮŴŉ 

ŧřɃ œŻŭ ŦŴ?   

ǮŢŴūŴŭ ŬŵŤ ūŻŦ Ųƃ 25 ŚŦ ŵůǸŴţǭŶ ŵǷŻœŝ ŧřɃ œŻŭ, 20 ŚŦ ŵůǸŴţǭŶ Ũŷ ŝũŮ ŧřɃ œŻŭ ŏũŅ 10 ŚŦ ŵůǸŴţǭŶ ŋŪƃ ǮŔŮŴŉ ŧřɃ œŻŭł

ʟŢŭŴŅ 60 ŚŻŦŭ ūŻťǪ ňŭ Ňũŵůɽ ţŴŻœ = ሺ60 െ 25 െ 20 െ 10ሻ = �5 ŚŦ ŵůǸŴţǭŶ ŬŴŭŴ ǮœŴŻŦŴ ǮŔŮŴŉ ŧřɃ œŻŭ ŦŴł ŢŴŲŻŮ ǮŢŴūŴŭ

ŋȲŭŵŝ Ūŷ Ů ! ŏŉ ŇťǪŴŻƃ ňūŭŴ ŵůŔŻũŴ Ňũŵůɽ ŵůǸŴţǭŶŭ űŅŔǪŴ œŶŪŴŻũ ŵŦšǭƃ œŭŴ ŬŴƃł 

  

Ǯűট�(Set)

 

ŵũŵŪɇ ŋŧŴŤŴŦ ȺŴŭŴ ŕŵŞŢ ʟűŵȔŢ űūŴŻũůŉ ūŸŮŢ Ǯűŝł ŕŵšŻŢ Ǯűŝ ũŮŻŢ űŴťŴŭšŢ ŵũŵŪɇ űŅŔǪŴŭ ʟ-űūŴŻũůŻœ ũŷśŴƃł 
 

    űংȗŴ 
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 ǮűŝŻœ űŴťŴŭ  ʢŉ ŧȻŵŢŻŢ ɓœŴů œŭŴ Ųƃł ŬţŴ: (i) ŢŴŵŮœŴ ŧȻŵŢ (Roster Method ũŴ Tabular Method) (ii) Ǯűŝ ŕŞŦ ŧȻŵŢ 
(Set Builder Method).

(i) তŴŵŮকŴ ŧȻŵত:  

 ŢŴŵŮœŴ ŧȻŵŢŻŢ ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ ʟŵŦŵŤǭɽŪŴŻũ ŋŻɫŔ œŻŭ ŵȺŢŶƃ ũɅŦŶ ŏŭ ūŴťǪŻū ňũȻ œŭŴ Ųƃ ŏũŅ ŏœŴŵťœ ŋŧŴŤŴŦ 

ţŴœŻŮ ¨œūŴ©�ũǪũŲŴŭ œŻŭ ŋŧŴŤŴŦʜŻŮŴ ňŮŴŤŴ œŭŴ Ųƃł 

 ǮŬūŦ: A = ሼ1, 3, 5ሽ, B = ሼa, bሽ, C = ሼŵŦŮƃ, ŵŢůŴ, ʣɟŴሽ ŉŢǪŴŵŤł 

(ii)   Ǯűট গŞŦ ŧȻŵত: 

 ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŴŤŴŦűūŸŲŻœ ʟŵŦŵŤǭɽŪŴŻũ ŋŻɫŔ ŦŴ œŻŭ ŋŧŴŤŴŦűūŸŲ ŵŦšǭŻƃŭ ŚɎ űŴťŴŭš ťŻūǭŭ ūŴťǪŻū Ǯűŝ ɓœŴŻůŭ ŧȻŵŢŻœ Ǯűŝ 

ŕŞŦ ŧȻŵŢ ũŮŴ Ųƃł 

 ǮŬūŦ:  B = ሼx ∶ x�ʍŴŪŴŵũœ ǮŚŴƁ űŅŔǪŴ} ŇţǭŴˊ, B Ǯűŝŵŝ űœŮ ʍŴŪŴŵũœ ǮŚŴƁ űŅŔǪŴ  Ǯű  এŔŴŻŦ ‘:’�ŵিʕ ȺŴŭŴ ‘এʡŧ ǮŬŦ’�ũŴ 

űংŻǸŻŧ ‘ǮŬŦ’�(such that) ǮũŴঝŴƃ। Ǯűŝ ŕŞŦ ŧȻŵŢŭ ňŭő ŵœřŷ ŋŤŴŲŭš ŲŻŮŴെ
C = ሼx ∶ x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ 30 ŏŭ ǮŘŻƃ ǮřŴŝሽ 

 D = ሼx ∶ x Ŧũū-Ťůū Ǯɷŵšŭ ŵũȗŴŦ ŵũŪŴŻŕŭ ŧŴŞǪŧŷʈœሽ
 ǮŬŻŲŻŢŷ  ŏŉ ŧȻŵŢŻŢ ǮűŻŝŭ ŋŧŴŤŴŦ ŵŦťǭŴŭŻšŭ ŚɎ ůŢǭ ũŴ ŵŦƃū (Rule) ǮŤőƃŴ ţŴŻœ, ŢŴŉ ŏ ŧȻŵŢŻœ Rule Method ő ũŮŴ Ųƃ  

ŏŉ ‘:’�ŵŘŻʕŭ ũŴŻūŭŵŝ ŋŧŴŤŴŻŦŭ ŧŵŭŘƃ ő şŴŻŦŭŵŝ ŋŧŴŤŴŻŦŭ ůŢǭł 
 

Example-01: ۱ = ሼെૢ, െ૟, െ૜, ૜, ૟, ૢሽ ǮűটŵটŻক Ǯűট গŞŦ ŧȻŵতŻত ɓকŴů কŭ। [কŴজ (ক) ŧ Ź. Ŧং-ƊƋ] 

űūŴťŴŦ: C ǮűŻŝŭ ŋŧŴŤŴŦűūŸŲ: െ9, െ6, െ3, 3, 6, 9  

ŏŔŴŻŦ, ɓŻŢǪœŵŝ ŋŧŴŤŴŦ 3 ȺŴŭŴ ŵũŪŴŚǪł 

ňŭő ŮǸšŶƃ ǮŬ, ŋŧŴŤŴŦűūŸŲ 9 ŏŭ ǮŘŻƃ ũƁ Ŧƃ ŏũŅ െ9 ŏŭ ǮŘŻƃ ǮřŴŝő Ŧƃł 

∴ C = ሼx: ୶
ଷ

∈ ℤ, െ9 ≤ x ≤ 9�ŏũŅ�x ≠ 0} [ŏŔŴŻŦ ℤ ŲŻŮŴ ŧŸšǭűŅŔǪŴŭ Ǯűŝ] 

Example-02: ሼ૛ܠ: ૓ℕܠ এũং ܠ < ૞ሽ =  ۯ

 űūŴťŴŦ: xϵℕ ∴ x ʍŴŪŴŵũœ űŅŔǪ  ∵ x < 5 ∴ x = 1, 2, 3, 4 ∴ 2x = 2, 4, 6, 8 ∴ A = ሼ2, 4, 6, 8ሽ 

Example-03: ۰ = ሼܡ ∶ ૜ܡ ŧŸšǭűংŔǪŴ এũং ܡ ≤ ૚ૡሽ ǮűটŵটŻক তŴŵŮকŴ ŧȻŵতŻত ɓকŴů কŭ। [কŴজ (Ŕ) ŧ Ź. Ŧং-ƊƋ] 

űūŴťŴŦ: 

B = ሼy: y ŧŸšǭűŅŔǪŴ ŏũŅ yଷ ≤ 18ሽ 
y = െ1 ŲŻŮ, ሺെ1ሻଷ = െ1 ≤ 18 

∴ y = െ1 ȄŲšŻŬŴŕǪ  

y = െ2 ŲŻŮ, ሺെ2ሻଷ = െ8 ≤ 18 

∴ y = െ2 ȄŲšŻŬŴŕǪ  

y = െ3 ŲŻŮ, ሺെ3ሻଷ = െ27 ≤ 18 

∴ y = െ3 ȄŲšŻŬŴŕǪł 
��������������.. 
��������������.. 

ŇţǭŴˊ y ŏŭ ūŴŦ űœŮ ōšŴȮœ ŧŸšǭűŅŔǪŴŭ ŚɎ 

yଷ ≤ 18 űŢǪł 

ňũŴŭ, y = 0 ŲŻŮ, yଷ = 0ଷ = 0 ≤ 18 

∴ y = 0 ȄŲšŻŬŴŕǪł 

y = 1 ŲŻŮ, yଷ = 1ଷ = 1 ≤ 18 

∴ y = 1 ȄŲšŻŬŴŕǪł 

y = 2 ŲŻŮ, yଷ = 2ଷ = 8 ≤ 18 

∴ y = 2 ȄŲšŻŬŴŕǪł 

y = 3 ŲŻŮ, yଷ = 3ଷ = 27 ≰ 18 

∴ y = 3 ȄŲšŻŬŴŕǪ Ŧƃł 

ŇţǭŴˊ 2 ŏŭ ǮŘŻƃ ũƁ y ŏŭ ǮŬŻœŴŻŦŴ ūŴŻŦŭ ŚɎ 

 yଷ ≤ 18 űŢǪ Ŧƃł 

∴ ŵŦŻšǭƃ Ǯűŝ, B = ሼ… , െ3, െ2, െ1, 0, 1, 2ሽ (Ans.) 

Type-01: Ǯűŝ ɓœŴŻůŭ ŧȻŵŢ 
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01. ŵŦŻŘŭ ǮœŴŦŵŝ ሼx�ϵ�ℕ ∶ x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ 2 ≤ x ≤ 7ሽ 
ǮűŝŵŝŻœ ŢŴŵŮœŴ ŧȻŵŢŻŢ ɓœŴů œŻŭ? [ŭŴ.ǮũŴ�’Ɗƌ] 
(a) ሼ2, 3, 7ሽ (b) ሼ2, 3, 5ሽ
(c) ሼ3, 5, 7ሽ (d) ሼ2, 3, 5, 7ሽ

02. ŵŦŻŘŭ ǮœŴŦŵŝ ŨŴńœŴ Ǯűŝ?  [ি.ǮũŴ�’Ɗƌ] 
(a) ሼx�ϵ�N: x ǮūƀŵŮœ űŅŔǪŴ, 23 < x < 29ሽ
(b) ሼx�ϵ�N: x ǮūƀŵŮœ űŅŔǪŴ, 11 < x < 19ሽ
(c) ሼx�ϵ�N: 23 < x < 25ሽ
(d) ሼx�ϵ�Z: 11 < x < 19ሽ  
űūŴধŴŦ: 23 < x < 29 ũǪũŵťŻŢ ǮœŴŻŦŴ ǮūƀŵŮœ űŅŔǪŴ 
ǮŦŉł ∴ x = ∅

03. ŵŦŻŘŭ ǮœŴŦŵŝ ሼx�ϵ�N: 5 < x < 7 ŏũŅ x ǮūƀŵŮœ űŅŔǪŴሽ 
ǮűŝŵŝŻœ ŢŴŵŮœŴ ŧȻŵŢŻŢ ɓœŴů œŻŭ"   [˃.ǮũŴ�’Ɗƌ] 
(a) ∅ (b) ሼ0ሽ (c) ሼ∅ሽ (d) ሼ5,7ሽ

04. √2x െ 2 ൅ 4 = 5�ŏŭ űūŴťŴŦ Ǯűŝ ŵŦŻŘŭ ǮœŴŦŵŝ? 
   [ŵদ.ǮũŴ�’Ɗƌ] 
(a) ሼ0ሽ (b) { } (c) ቄଷ

ଶ
ቅ (d) ሼ1ሽ

űūŴধŴŦ: √2x െ 2 ൅ 4 = 5 
 ⇒ √2x െ 2 = 1 
 ⇒ 2x െ 2 = 1 ⇒ x = ଷ

ଶ
∴ űūŴťŴŦ Ǯűŝ ቄଷ

ଶ
ቅ 

05. A = {2,3,5,7}- ŏŭ Ǯűŝ ŕŞŦʡŧ ǮœŴŦŵŝ? [ŵű.ǮũŴ�’ƊƋ] 
 (a) ሼx�ϵ�ℕ: x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ x ≤ 7ሽ  
 (b) ሼx�ϵ�ℕ: x ŵũŻŚŴƁ űŅŔǪŴ ŏũŅ x ≤ 7ሽ 

(c) ሼx�ϵ�ℕ: x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ x ≤ 11ሽ  
 (d) ሼx�ϵ�ℕ: x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ x < 7ሽ   

űūŴťŴŦ� A ǮűŻŝŭ ŘŴŭŵŝ ŋŧŴŤŴŦŉ ʍŴŪŴŵũœ űŅŔǪŴł 
ŋŧŴŤŴŦʜŻŮŴŭ ሺ2, 3, 5, 7ሻ ɓŻŢǪœŵŝŉ ǮūƀŵŮœ űŅŔǪŴ ŏũŅ 7 
ǮţŻœ ǮřŴŝ ũŴ űūŴŦł 

06. ሼx�ϵ�ℤ: xଶ െ 9 = 0ሽ ŏŭ ŢŴŵŮœŴ ŧȻŵŢŻŢ ɓœŴŵůŢ ʡŧ 
ǮœŴŦŵŝ?    [ঢŴ.ǮũŴ�’ƊƊ] 
(a) ∅ (b) ሼെ3ሽ (c) ሼ3ሽ (d) ሼെ3, 3ሽ
űūŴধŴŦ: ሼx�ϵ�ℤ: xଶ െ 9 = 0ሽ 

 ɓŤȲ ůŢǭ: xଶ െ 9 = 0 ⇒ x = ±3 
 ∴ ŢŴŵŮœŴ ŧȻŵŢŻŢ Ǯűŝ = ሼെ3, 3ሽ 
07. ሼx�ϵ�ℕ: xଶ ≥ 4 ŏũŅ xଷ < 100ሽ Ǯűŝŵŝŭ ŢŴŵŮœŴ ŧȻŵŢŻŢ 

ɓœŴŵůŢ ʡŧ ŵŦŻŘŭ ǮœŴŦŵŝ?  [Ŭ.ǮũŴ�’ƊƊ] 
(a) {2, 3, 4} (b) {2, 3, 5}
(c) {3, 4, 5} (d) {3, 4, 6}

űūŴধŴŦ: 5ଷ > 100; 1ଶ < 4 ∴ Ǯűŝŵŝ = ሼ2, 3, 4ሽ

08. ሼx�ϵ�ℕ: xଶ > 15 ŏũŅ xଷ < 36ሽ Ǯűŝŵŝŭ ŢŴŵŮœŴ ʡŧ 
ǮœŴŦŵŝ?    [ū.ǮũŴ�’Ɗƈ] 

 (a) ሼ4, 5, 6ሽ   (b) ሼ1, 2, 3ሽ  
(c) ሼ3ሽ  (d) ∅   

űūŴধŴŦ: xଶ > 15 ŏŭ ŚɎ x = 4, 5, 6 … 

 xଷ < 36 ŏŭ ŚɎ x = 1, 2, 3 

09. C = ሼy: y�ϵ�ℕ ŏũŅ 5 ≤ y ≤ 10ሽ� Ǯűŝŵŝ ŢŴŵŮœŴ ŧȻŵŢŻŢ 
ŵŦŻŘŭ ǮœŴŦŵŝ?  [ŵű.ǮũŴ�’ƉƏ]

 (a) ሼ5, 6, 7, 8, 9, 10ሽ (b) ሼ6, 7, 8, 9ሽ 
 (c) ሼ5, 6, 7, 8, 9ሽ (d) ሼ6, 7, 8, 9, 10ሽ  
 

 
01. (a) űūŴধŴŦ Ǯűট ŵŦšǭƃ কŭ: ܡ૛ = √૞ܡ. [ũ.ǮũŴ�’�Ɗƌ] 

(a) űūŴধŴŦ: ǮŤőƃŴ ňŻř, yଶ = √5y 

 ⇒ yଶ െ √5y = 0  
 ⇒ yଶ െ √5y = 0 
 ⇒ y(y െ √5) = 0 ⇒ y = 0  

 ŇţũŴ y െ √5 = 0 ⇒ y = √5 

 ∴ ŵŦŻšǭƃ űūŴťŴŦ Ǯűŝ y = {0, √5}. (Ans.)

ۯ .02 = ሼെ૜, െ૛, െ૚, ૙, ૚ሽ [˃.ǮũŴ�’Ɗƌ] 
 (a) ۯ�ǮűটŵটŻক�Ǯűট�গŞŦ�ŧȻŵতŻত�ɓকŴů�কŭ। 
(a)  űūŴধŴŦ: ǮŤőƃŴ ňŻř, A = ሼെ3, െ2, െ1, 0, 1ሽ 
 ŏŔŴŻŦ, ɓŻŢǪœŵŝ ŋŧŴŤŴŦ ŧŸšǭűŅŔǪŴ ŏũŅ െ3 ǮţŻœ 1 ŧŬǭɁ 

ŵũʈŹŢł ŢŴŲŻŮ A ǮűŝŵŝŻœ ňūŭŴ ŵŮŔŻŢ ŧŴŵŭ, 
 A = ሼx ∶ x ŧŸšǭűŅŔǪŴ ŏũŅ െ3 ≤ x ≤ 1ሽ   

ۯ .03 = ሼܠ ∶ ૛ܠ��এũংۼ��૓ܠ െ ૞ܠ ൅ ૟ = ૙ሽ [ŵদ.ǮũŴ�’Ɗƌ] 
(a) A ǮűটŵটŻক তŴŵŮকŴ ŧȻŵতŻত ɓকŴů কŭ। 

(a)  űūŴধŴŦ: ǮŤőƃŴ ňŻř, A = ሼx ∶ x�ϵ�N  
 ŏũŅ xଶ െ 5x ൅ 6 = 0ሽ 
 xଶ െ 5x ൅ 6 = 0 ⇒ xଶ െ 2x െ 3x ൅ 6 = 0 
 ⇒ xሺx െ 2ሻ െ 3ሺx െ 2ሻ = 0  
 ⇒ ሺx െ 2ሻሺx െ 3ሻ = 0  
 ⇒ ሺx െ 2ሻ = 0 ŇţũŴ ሺx െ 3ሻ = 0 
 ∴ x = 2 ŇţũŴ x = 3 
 ∴ x = ሼ2, 3ሽ A Ǯűŝŵŝ ŢŴŵŮœŴ ŧȻŵŢŻŢ ŲŻŮŴ  
 = ሼ2, 3ሽ  

ǮũŴşǭ MCQ ő űūŴťŴŦ 

ǮũŴşǭ ű ŹŚŦůŶŮ ɓɵ ő ŦūŷŦŴ ŋȲŭ 

Ǯűŝ ɓœŴŻůŭ ŧȻŵŢ 
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04.� (a) Ŭŵদ ۯ = ሼܠ�૓�ℕ: ܠ < ૚ૢ এũং ܠ, ૜ এŭ ʜŵšতক} Ųƃ 
তŻũ ۯ ǮűটŵটŻক তŴŵŮকŴ ŧȻŵতŻত ɓকŴů কŭ।
 [ি.ǮũŴ�’ƊƊ]

(a) űūŴধŴŦ: 19 ŏŭ ǮŘŻƃ ǮřŴŝ ŏũŅ 3 ŏŭ ʜŵšŢŻœŭ Ǯűŝ, 
  A = ሼ3, 6, 9, 12, 15, 18ሽ (Ans.) 

05. (a) ۾ = ሼܠ�૓�ℕ: ૛ܠ ൅ ܠ െ ૠ૛ = ૙ሽ ǮűটŵটŻক তŴŵŮকŴ 
ŧȻŵতŻত ɓকŴů কŭ। ŭŴ.ǮũŴ.’ƊƊ]

(a) űūŴধŴŦ: ǮŤőƃŴ ňŻř, P = ሼx�ϵ�ℕ: xଶ ൅ x െ 72 = 0ሽ
ŏŔŴŻŦ, xଶ ൅ x െ 72 = 0 ⇒ xଶ െ 8x ൅ 9x െ 72 = 0 

 ⇒ xሺx െ 8ሻ ൅ 9ሺx െ 8ሻ = 0 
 ⇒ ሺx ൅ 9ሻሺx െ 8ሻ = 0 ∴ x = 8, െ9

ŏŔŴŻŦ, െ9 ∉ ℕ ∴ P = ሼ8ሽ (Ans.) 

06. ℕ ∶
 এũং ۱ = ሼܠ�૓�ℕ ∶ ૛ܠ > ૠ এũং ܠ૜ < ૚૜૟ሽ [ি. ǮũŴ.’Ɗƈ] 

(a) A ও C ǮűটŻক তŴŵŮকŴ ŧȻŵতŻত ɓকŴů কŭ। 
(a) űūŴধŴŦ: 1 ǮţŻœ 10 ŏŭ ūŴŻś ǮūƀŵŮœ űŅŔǪŴ ŘŴŭŵ  ǮűʜŻŮŴ 

ŲŻŮŴ: 2, 3,5 ŏũŅ 7ł  
 ʟŢŭŴŅ, A = ሼ2, 3, 5, 7ሽ 
 ňũŴŭ, 1ଶ = 1 ≯ 7      1ଷ = 1 
 2ଶ = 4 ≯ 7      2ଷ = 8 
 3ଶ = 9             3ଷ = 27 
 4ଶ = 16           4ଷ = 64 
 5ଶ = 25           5ଷ = 125 
 6ଶ = 36           6ଷ = 216 ≮ 136 
 ǮŬŻŲŢŷ  3ଶ > 7 ŏũŅ 6ଷ > 136 ∴ C = ሼ3,4,5ሽ (Ans.) 

07. (a)  ܁ = ሼܠ�૓�ℕ: ૛ܠ > ૚૞ এũং ܠ૜ < ૛૛૞ሽ�ŲŻŮ, S Ǯক 
তŴŵŮকŴ ŧȻŵতŻত ɓকŴů কŭ। [Ŭ.ǮũŴ�’Ɗƈ] 

(a) űūŴধŴŦ: ǮŤőƃŴ ňŻř, S = ሼx�ϵ�ℕ ∶ xଶ > 15  

 ŏũŅ xଷ < 225ሽ 
 ŏŔŴŻŦ ℕ = ʍŴŪŴŵũœ űŅŔǪŴ  
 = ሼ1, 2, 3, 4, … … … ሽ  
 x = 1 ŲŻŮ, xଶ = 1 ≯ 15 ŏũŅ xଷ = 1 < 225 

 x = 2 ŲŻŮ, xଶ = 4 ≯ 15 ŏũŅ xଷ = 8 < 225 

 x = 3 ŲŻŮ, xଶ = 9 ≯ 15 ŏũŅ xଷ = 27 < 225 

 x = 4 ŲŻŮ, xଶ = 16 > 15  

 ŏũŅ xଷ = 64 < 225 

 x = 5 ŲŻŮ, xଶ = 25 > 15 ŏũŅ xଷ = 125 < 225 

 x = 6 ŲŻŮ, xଶ = 36 > 15  

 ŏũŅ xଷ = 216 < 225 

 x = 7 ŲŻŮ, xଶ = 49 > 15  

 ŏũŅ xଷ = 343 ≮ 225 

 ∴ ŵŦŻšǭƃ Ǯűŝ S = ሼ4, 5, 6ሽ (Ans.)

08. (a) ۱ = ሼܠ�૓�ℕ: ૛ܠ െ ૢ = ૙ሽ ǮűটŻক তŴŵŮকŴ ŧȻŵতŻত  
ɓকŴů কŭ।  

(a) űūŴধŴŦ: ǮŤőƃŴ ňŻř, C = ሼx�ϵ�ℕ: xଶ െ 9 = 0ሽ 
 ůŢǭŴʞűŴŻŭ, xଶ െ 9 = 0 
 ⇒ ሺx ൅ 3ሻሺx െ 3ሻ = 0 ⇒ x = ±3 
 ŵœɁŷ , െ3 ∉ ℕ ∴ C = ሼ3ሽ (Ans.) 

 

 
 

 

01. A� = � ሼ7, 14, 21, 28ሽ ǮűŝŵŝŻœ Ǯűŝ ŕŞŦ ŧȻŵŢŻŢ ɓœŴů œŭł [Ans: ሼܠ ∶ ,ܠ� ૠ এŭ ʜŵšতক এũং ૙ < ܠ ≤ ૛ૡ ] 
02. B = ሼx ∶ x, 28 ŏŭ ʜšŦŶƃœሽ ǮűŝŵŝŻœ ŢŴŵŮœŴ ŧȻŵŢŻŢ ɓœŴů œŭ [Ans: ሼ૚, ૛, ૝, ૠ, ૚૝, ૛ૡሽ ] 
03. C = ሼx ∶ x ťŦŴȮœ ŧŸšǭűŅŔǪŴ ŏũŅ xଶ < 18ሽ ǮűŝŵŝŻœ ŢŴŵŮœŴ ŧȻŵŢŻŢ ɓœŴů œŭł [Ans: ሼ૚, ૛, ૜, ૝ሽ] 

Try Yourself

Type-02: űűŶū ő ŇűŶū Ǯűŝ űŅǷŴɁ űūűǪŴũŵŮ 

   
űűŶū Ǯűট: ǮŬ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŕšŦŴ œŻŭ ŵŦťǭŴŭš œŭŴ ŬŴƃ, ŢŴŻœ űűŶū Ǯűŝ ũŻŮł 
ǮŬūŦ: D = ሼx, y, zሽ, E = ሼ3, 6, 9, … … … , 60ሽ , F = ሼx ∶ x�ǮūƀŵŮœ űŅŔǪŴ ŏũŅ 30 < x < 70ሽ ŉŢǪŴŵ  
ŏŔŴŻŦ D ǮűŻŝ 3 ŵŝ, E ǮűŻŝ Ɗƈŵŝ ŏũŅ F ǮűŻŝ 9 ŵŝ ŋŧŴŤŴŦ ňŻřł 
অűŶū Ǯűট: ǮŬ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃ ŦŴ, ŢŴŻœ ŇűŶū Ǯűŝ ũŻŮł 
ǮŬūŦ: A = ሼx ∶ x ŵũŻŚŴƁ ʍŴŪŴŵũœ űŅŔǪŴሽ; ʍŴŪŴŵũœ űŅŔǪŴ Ǯűŝ, ℕ = ሼ1, 2, 3, 4, … … … ሽ; ŧŸšǭűŅŔǪŴŭ Ǯűŝ, 
ℤ = ሼ… , െ3, െ2, െ1, 0, 1, 2, 3, … … … ሽ; ūŸŮŤ űŅŔǪŴŭ Ǯűŝ, ℚ = ሼୟ

ୠ
: a�ő b ŧŸšǭűŅŔǪŴ ŏũŅ b ≠ 0ሽ ; ũŴʈũ űŅŔǪŴŭ Ǯűŝ ℝ, 

P = ሼ2,5,7,11, … . ሽ ŏũŅ ǮūƀŵŮœ űŅŔǪŴŭ Ǯűŝ ŉŢǪŴŵŤ ŇűŶū Ǯűŝł 
 

    űংȗŴ 

 

ŏœŵŝ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴŻœ n (set ŏŭ ŦŴū) ʡŻŧ ŵŮŔŴ Ųƃł ǮŬūŦ: D = ሼx, y, zሽ, E = ሼ3, 6, 9, … … … , 60ሽ, Fሼx: x ǮūƀŵŮœ űŅŔǪŴ
ŏũŅ 30 < x < 70ሽ ŲŻŮ, nሺDሻ = 3, nሺEሻ = 20, nሺFሻ = 9ł 

 

 ǮজŻŦ ŭŴŻŔŴ 
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Example-04: űűŶū Ǯűট ও অűŶū Ǯűট ŵŦšǭƃ কŭ: [কŴজ ŧ Ź. Ŧং-Ɗƌ] 

 (ক) ሼ૜, ૞, ૠሽ          (Ŕ) ሼ૚, ૛, ૛૛……૛૚૙ሽ      (গ) ሼ૜, ૜૛, ૜૜, …… ሽ   
 (ঘ) ሼܠ ∶ ܠ��ŧŸšǭűংŔǪŴ এũংܠ < ૝ሽ (ঙ) ሼܘ

ܙ
∶ ܙ��ŧŭʋŭ�űŲŻūƀŵŮক�এũংܙ��ওܘ > ૚ሽ     

 (ি) ሼܡ ∶ ܡ ∈ ℕ�এũং ܡ૛ < ૚૙૙ <  ૜ሽܡ
 űūŴťŴŦ: 

 (ক) ሼ૜, ૞, ૠሽ 
  ሼ3, 5, 7ሽ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ 3ł ŇţǭŴˊ Ǯűŝŵŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃł 

  ʟŢŭŴŅ ሼ3, 5, 7ሽ ŏœŵŝ űűŶū Ǯűŝł 

 (Ŕ) ሼ૚, ૛, ૛૛……૛૚૙ሽ 
  ሼ1, 2, 2ଶ, … 2ଵ଴ሽ ŏŭ ŋŧŴŤŴŦʜŻŮŴ ŲŻŮŴ = 1, 2, 2ଶ, 2ଷ, 2ସ, 2ହ, 2଺, 2଻, 2଼, 2ଽ, 2ଵ଴� 
  ∴ Ǯűŝŵŝŭ ŋŧŴŤŴŦ űŅŔǪŴ 11ł ŇţǭŴˊ Ǯűŝŵŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃł 

  ʟŢŭŴŅ ሼ1, 2, 2ଶ, … 2ଵ଴ሽ ŏœŵŝ űűŶū Ǯűŝł 

 (গ) ሼ૜, ૜૛, ૜૜, …… ሽ 
  ሼ3, 3ଶ, 3ଷ, … ሽ ŏ ǮűŻŝ ŇűŅŔǪ ŋŧŴŤŴŦ ňŻř ŬŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃ ŦŴł 

  ʟŢŭŴŅ ሼ3, 3ଶ, 3ଷ, … ሽ ŏœŵŝ ŇűŶū Ǯűŝł 

 (ঘ) ሼܠ ∶ ܠ��ŧŸšǭűংŔǪŴ এũংܠ < ૝ሽ 
  ŧŸšǭűŅŔǪŴűūŸŲ ŲŻŮŴ: … ,െ3,െ2,െ1, 0, 1, 2, 3, 4, … ... ... 

  ɓŤȲ Ǯűŝ ሼx: x�ŧŸšǭűŅŔǪŴ�ŏũŅ�x < 4ሽ ŏœŵŝ ŇűŶū Ǯűŝł œŴŭš ŏŻǸŻȳ 4 ŏŭ ǮŘŻƃ ǮřŴŝ ŇűŅŔǪ ŧŸšǭűŅŔǪŴ 

ሺ… ,െ3,െ2,െ1, 0, 1, 2, 3ሻ ŵũŤǪūŴŦ, ŋŧŴŤŴŦʜŻŮŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃ ŦŴł ʟŢŭŴŅ ŏŵŝ ŏœŵŝ ŇűŶū Ǯűŝł 

 (ঙ) ሼܘ
ܙ
∶ ܙ��ŧŭʋŭ�űŲŻūƀŵŮক�এũংܙ��ওܘ > ૚ሽ 

  ሼ୮
୯
: p�ő�q ŧŭʋŭ űŲŻūƀŵŮœ ŏũŅ q > 1ሽ ŏŵŝ ŏœŵŝ ŇűŶū Ǯűŝł 

  œŴŭš ɓŤȲ Ǯűŝŵŝ ŲŻŮŴ űœŮ ūŸŮŤ űŅŔǪŴŭ Ǯűŝł ǮŬŻŲŢŷ  ūŸŮŤ űŅŔǪŴ ŕšŦŴ œŻŭ ǮůŰ œŭŴ ŬŴƃ ŦŴ ŢŴŉ ɓŤȲ ǮűŻŝŭ ŋŧŴŤŴŦ 

űŅŔǪŴ ŇűŶūł 

 (ি) ሼܡ ∶ ܡ ∈ ૛ܡ �এũংۼ < ૚૙૙ <  ૜ሽܡ
  ɓŤȲ Ǯűŝŵŝ ŲŻŮŴ: ሼy: y ∈ N�ŏũŅ�yଶ < 100 < yଷሽł ŏŔŴŻŦ N ŲŻŮŴ ʍŴŪŴŵũœ űŅŔǪŴŭ Ǯűŝ ŬŴŭ űŤűǪűūŸŲ ŲŻŮŴ: 

1, 2, 3, 4…… 
  ɓŤȲ ůŢǭŴʞűŴŻŭ, y ŏŭ ūŴŦ ŏūŦ ʍŴŪŴŵũœ űŅŔǪŴ ŬŴŭ ũŕǭ 100 ǮţŻœ ǮřŴŝ ŵœɁŷ  ŬŴŭ ŖŦ 100 ǮţŻœ ũƁł 

  y = 1 ŲŻŮ, yଶ = 1ଶ = 1 ŏũŅ yଷ = 1ଷ = 1; ŬŴ 100 ǮţŻœ ũƁ Ŧƃ ∴ y = 1 ȄŲণŻŬŴŕǪ Ŧƃł 

  y = 2 ŲŻŮ, yଶ = 2ଶ = 4 ŏũŅ yଷ = 2ଷ = 8; ŬŴ 100 ǮţŻœ ũƁ Ŧƃ ∴ y = 2 ȄŲণŻŬŴŕǪ Ŧƃł 

  y = 3 ŲŻŮ, yଶ = 3ଶ = 9 ŏũŅ yଷ = 3ଷ = 27; ŬŴ 100 ǮţŻœ ũƁ Ŧƃ ∴ y = 3 ȄŲণŻŬŴŕǪ Ŧƃł 

  y = 4 ŲŻŮ, yଶ = 4ଶ = 16 ŏũŅ yଷ = 4ଷ = 64; ŬŴ 100 ǮţŻœ ũƁ Ŧƃ ∴ y = 4 ȄŲণŻŬŴŕǪ Ŧƃł 

  y = 5 ŲŻŮ, yଶ = 5ଶ = 25 ŏũŅ yଷ = 5ଷ = 125� ŬŴ 100 ǮţŻœ ũƁ ∴ y = 5 ȄŲণŻŬŴŕǪł 

  y = 6 ŲŻŮ, yଶ = 6ଶ = 36 ŏũŅ yଷ = 6ଷ = 216� ŬŴ 100 ǮţŻœ ũƁ ∴ y = 6 ȄŲণŻŬŴŕǪł 

  y = 7 ŲŻŮ, yଶ = 7ଶ = 49 ŏũŅ yଷ = 7ଷ = 343� ŬŴ 100 ǮţŻœ ũƁ ∴ y = 7 ȄŲণŻŬŴŕǪł 

  y = 8 ŲŻŮ, yଶ = 8ଶ = 64 ŏũŅ yଷ = 8ଷ = 512� ŬŴ 100 ǮţŻœ ũƁ ∴ y = 8 ȄŲণŻŬŴŕǪł 

  y = 9 ŲŻŮ, yଶ = 9ଶ = 81 ŏũŅ yଷ = 9ଷ = 729� ŬŴ 100 ǮţŻœ ũƁ ∴ y = 9 ȄŲণŻŬŴŕǪł 

  y = 10 ŲŻŮ, yଶ = 10ଶ = 100 ŬŴ 100 ǮţŻœ ǮřŴŝ Ŧƃ ∴ y = 10 ȄŲণŻŬŴŕǪ Ŧƃł 

  ůŢǭŴʞűŴŻŭ ȄŲšŻŬŴŕǪ ʍŴŪŴŵũœ űŅŔǪŴűūŸŲ: 5, 6, 7, 8, 9 ∴�ŵŦŻšǭƃ Ǯűŝ: ሼ�5, 6, 7, 8, 9ሽ 
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 ǮŪŦŵিȳ (Venn Diagram):

 ŚŦ ǮŪŦ (ƉƐƋƌ-ƉƑƊƋ) ǮűŻŝŭ œŴŬǭŵũŵť ŵŘŻȳŭ űŴŲŴŻŬǪ ɓœŴů œŻŭŦł ŏŻŢ ŵũŻũŘŦŴťŶŦ ǮűŝʜŻŮŴŻœ űūŢŻŮ ŇũŵʉŢ ŵũŵŪɇ 
ňœŴŻŭŭ ŚǪŴŵūŵŢœ ŵŘȳ, ǮŬūŦ: ňƃŢ, ũ ŹȲ ŏũŅ ŵȳŪŷŚ ũǪũŲŴŻŭŭ ūŴťǪŻū ŋŧʉŴŧŦ œŭŴ Ųƃ  ŚŦ ǮŪŻŦŭ ŦŴūŴʞűŴŻŭ ŵŘȳʜŻŮŴ 
ǮŪŦŵŘȳ ŦŴŻū ŧŵŭŵŘŢł ŢŴŲŻŮ ŘŻŮŴ ŇťǪŴŻƃŭ ʣʠŻŢ ǮŤőƃŴ űūűǪŴŵŝ ǮŪŦŵŘŻȳŭ ūŴťǪŻū űūŴťŴŦ œŵŭ  

 ŨŴŭŵŤŻŦŭ ǮɷŵšœŻǸ ŵůǸŴţǭŶŻŤŭ ŵǷŻœŝ ő Ũŷ ŝũŮ ŧřɃ œŭŴŭ ŵŪŵȲŻŢ ŬŵŤ Ǯűŝ ŕŞŦ œŭŴ Ųƃ ŢŴŲŻŮ,  
 C = {ǮŬűœŮ ŵůǸŴţǭŶ ŵǷŻœŝ ŧřɃ œŻŭ} ; F = {ǮŬűœŮ ŵůǸŴţǭŶ Ũŷ ŝũŮ ŧřɃ œŻŭ} 
 B = {ǮŬűœŮ ŵůǸŴţǭŶ ŋŪƃ ǮŔŮŴŉ ŧřɃ œŻŭ} ; N = {ǮŬűœŮ ŵůǸŴţǭŶ ǮœŴŻŦŴ ǮŔŮŴŉ ŧřɃ œŻŭ ŦŴ} 
 ŏŔŴŻŦ, ǮūŴŝ ŵůǸŴţǭŶŻŤŭ ŵŦŻƃ ŕŵŞŢ ǮűŝŻœ űŴŵũǭœ Ǯűŝ ũŻŮł 
 ǮŪŦŵŘŻȳŭ űŴŲŴŻŬǪ ňūŭŴ ŨŴŭŵŤŦ ǮɷŵšœŻǸ Ǯœ Ǯœ ǮœŴŻŦŴ ǮŔŮŴŉ ŧřɃ œŻŭ ŦŴ ŢŴŻŤŭ űŅŔǪŴ ŵŦšǭƃ œŭŻŢ ŧŴŵŭł ǮūŴŝ ŵůǸŴţǭŶ űŅŔǪŴŻœ ŇţǭŴ́  

űŴŵũǭœ ǮűŝŻœ ňƃŢŻǸŻȳ ȺŴŭŴ ŏũŅ ũŴŵœ ǮűŝʜŻŮŴŻœ ũ ŹȲ ȺŴŭŴ ɓœŴů œŻŭ ŧŴŉ,  

 
 ǮœŦ ňūŭŴ ŏŪŴŻũ ɓœŴů œŭŮŴū? ŘŻŮŴ ňūŭŴ ǮŪŦŵŘȳ űŅǷŴɁ ŵœřŷ ǮūƀŵŮœ ŵũŰƃ űɡŻœǭ ǮŚŻŦ ǮŦŉł 
(i)  ŬŵŤ ŏœŵŝ űŴŵũǭœ ǮűŻŝŭ ǮŪŢŭ ʢŵŝ ŵŪɇ Ǯűŝ A ő B ŬŴŻŤŭ ūŴŻś ǮœŴŻŦŴ űŴťŴŭš (Common) ŋŧŴŤŴŦ ǮŦŉ, ǮűŻǸŻȳ ŵŘŻȳŭ ɎŴƃ ǮŪŦŵŘȳ 

ŋŧʉŴŧŦ œŭŻŢ ŲŻũł ŬŵŤ ŨŴŭŵŤŻŦŭ űŲŧŴŞŶŻŤŭ ūŻťǪ ŬŴŭŴ ŵǷŻœŝ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯœŋ ŬŵŤ Ũŷ ŝũŮ ŧřɃ ŦŴ œŻŭ ŢŻũ ŵǷŻœŝ ő Ũŷ ŝũŻŮŭ 
Ǯűŝ ŵŦŻɠŭ ǮŪŦŵŘŻȳŭ A ő B ǮűŻŝŭ ɎŴƃ ňŮŴŤŴŪŴŻũ ŇũʉŴŦ œŭŻũł 

 
⇒ A ő B ŏŭ ūŻťǪ ǮœŴŻŦŴ űŴťŴŭš ŋŧŴŤŴŦ ǮŦŉł 

(ii)  ňũŴŭ ŬŵŤ ŏœŵŝ űŴŵũǭœ ǮűŻŝŭ ʢŵŝ ŵŪɇ Ǯűŝ A ő B ŏūŦ Ųƃ, ǮŬŦ A ǮűŻŝŭ ŵœřŷ ŋŧŴŤŴŦ B ǮűŻŝŭ ūŻťǪő ŵũŤǪūŴŦ ţŴŻœ, ǮűŻǸŻȳ 
A ő B ǮűŻŝŭ ūŻťǪ űŴťŴŭš ŋŧŴŤŴŦ ţŴœŻ  ňūŭŴ ŵŦŻɠ ŵŘŻȳŭ ɎŴƃ ǮŪŦŵŘŻȳŭ űŴŲŴŻŬǪ ŋŧŻŭŴǶ ŖŝŦŴŵŝŻœ ŋŧʉŴŧŦ œŭŻŢ ŧŴŵŭł 
ǮŬūŦ, ŨŴŭŵŤŻŦŭ űŲŧŴŞŶŻŤŭ ūŻťǪ 10 ŚŦ ŵǷŻœŝ ő Ũŷ ŝũŮ ʢŵŝ ǮŔŮŴŉ ŧřɃ œŻŭ, ǮŬŻŲŢŷ  10 ŚŦ ŵůǸŴţǭŶ ʢŵŝ ǮŔŮŴŉ ŧřɃ œŻŭł 
ʟŢŭŴŅ ǮūŴŝ 10 ŵŝ ŋŧŴŤŴŦ A ő B ǮűŻŝŭ ūŻťǪ œūŦ (Common) ţŴœŻũł ŇţǭŴˊ ŏŻǸŻȳ ŵŦŻɠ ǮŪŦŵŘŻȳŭ ɎŴƃ ŋŧʉŴŦ œŭŻŢ ŲŻũł  

   
⇒ A ő B ŏŭ ūŻťǪ űŴťŴŭš ŋŧŴŤŴŦ ňŻřł ŵŘŻȳ ŲŮŷŤ ŭŅ œŭŴ ŇŅůŝŷ˃ A ő B űŴťŴŭš ŋŧ  

(iii)  ŬŵŤ űŴŵũǭœ ǮűŻŝŭ ʢŵŝ Ǯűŝ A ő B ŏūŦ Ųƃ ǮŬŔŴŻŦ A ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ B ǮűŻŝŭ ūŻťǪ ŵũŤǪŴūŴŦ ŢŻũ ŋǶ ŖŝŦŴŵŝ ŵŘŻȳŭ ɎŴƃ 
ǮŪŦŵŘŻȳŭ ūŴťǪŻū ŋŧʉŴŧŦ œŭŻŢ ŲŻũł ŬŵŤ ŨŴŭŵŤŻŦŭ űŲŧŴŞŶŻŤŭ ūŻťǪ ŬŴŭŴ Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŭŴ űũŴŉ ŵǷŻœŝ ǮŔŮŴő 
ŧřɃ œŻŭ ŢŴŲŻŮ ŵŦŻɠ ǮŪŦŵŘŻȳŭ ūŢ œŻŭ ŋŧʉŴŧŦ œŭŻŢ ŲŻ  

  
⇒ A ŏŭ űœŮ ŋŧŴŤŴŦ B ŏŭ ūŻťǪ ŵũŤǪūŴŦł 

ŋŧŻŭŴǶ ňŻŮŴŘŦŴŭ ŧŵŭŻɓŵǸŻŢ ŘŻŮŴ ŨŴŭŵŤŻŦŭ ǵŴŻűŭ űŲŧŴŞŶŻŤŭ Ũŷ ŝũŮ ő ŵǷŻœŝ ǮŔŮŴŭ ŧřŻɃŭ ŵŪŵȲŻŢ ǮűŝʜŻŮŴŻœ 
ǮŪŦŵŘŻȳŭ űŴŲŴŻŬǪ ŋŧʉŴŧŦ œŵŭ- 

 

Type-03: ǮŪŦŵŘȳ ő ŋŧŻűŝ űŅǷŴɁ űūűǪŴũŵŮ 



 

 

7 

ŵŘȳ ǮţŻœ ũŷśŴ ŬŴŻȎ, 10 ŚŦ ŵůǸŴţǭŶ ŵǷŻœŝ ő Ũŷ ŝũŮ ŋŪƃŉ ǮŔŮŴ ŧřɃ œŻŭł ŬŴŭŴ ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ (C) ŏũŅ Ũŷ ŝũŮ 
ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ (F) ŋŪŻƃŭ ūŴŻś ŇũʉŴŦ œŻ  ŢŴŲŻŮ,  
ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶŭ űŅŔǪŴ, nሺCሻ = 25 
Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶŭ űŅŔǪŴ, nሺFሻ = 20 
ŋŪƃ ǮŔŮŴ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶŭ űŅŔǪŴ,  nሺBሻ = 10 
ʣťŷūŴȳ ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ = nሺCሻ െ nሺBሻ = 25 െ 10 = 15  
ʣťŷūŴȳ Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ = nሺFሻ െ nሺBሻ = 20 െ 10 = 10  
ŬŵŤ ũŮŴ Ųƃ, œŢ ŚŦ ŵůǸŴţǭŶ ŇɁŢ ŏœŵŝ ǮŔŮŴ ŲŻŮő ŧřɃ œŻŭ ŢŴŭ űŅŔǪŴ ŲŻũ = ʣťŷūŴȳ ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ ൅ ʣťŷūŴȳ 
Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ ൅ ŋŪƃ ǮŔŮŴ ŧřɃ œŻŭ = 15 ൅ 10 ൅ 10 = 35ł 
ŨŴŭŵŤŻŦŭ ǵŴŻű ǮūŴŝ ŵůǸŴţǭŶ 60 ŚŦł ʟŢŭŴŅ ǮœŴŻŦŴ ǮŔŮŴŉ ŧřɃ œŻŭ ŦŴ ŏūŦ ŵůǸŴţǭŶ űŅŔǪŴ = ǮūŴŝ ŵůǸŴţǭŶ űŅŔǪŴ – ŇɁŢ ŏœŵŝ ǮŔŮŴ 
ŇţũŴ ŋŪƃ ǮŔŮŴ ŧřɃ œŻŭ ŏʡŧ ŵůǸŴţǭŶ űŅŔǪŴ  = 60 െ 35 = 25 ŚŦ   
ŇŢŏũ ǮœŴŻŦŴ ǮŔŮŴŉ ŧřɃ œŻŭ ŦŴ ŏʡŧ ŵůǸŴţǭŶŭ űŅŔǪŴ = 25 ŚŦ 

Example-05: ǮকŴŻŦŴ Ǯɷŵšŭ 50 জŦ ŵůǸŴţǭŶŭ ūŻধǪ 35 জŦ Ũŷ টũŮ এũং 25 জŦ ŵǷŻকট ǮŔŮŴ ŧছɃ কŻŭ। ʢইŵট ǮŔŮŴই ŧছɃ কŻŭ এʡŧ 
ŵůǸŴţǭŶŭ űংŔǪŴ 20। কতজŦ ŵůǸŴţǭŶ ʢইŵট ǮŔŮŴই ŧছɃ কŻŭ ŦŴ তŴ ǮŪŦŵিŻȳŭ űŴŲŴŻŬǪ ŵŦšǭƃ কŭ। 

 űūŴťŴŦ:   

 
 ūŻŦ œŵŭ, ǮŪŦŵŘŻȳ ňƃŢŴœŴŭ ǮǸȳŵŝ 50 ŚŦ ŵůǸŴţǭŶŭ Ǯűŝ U ŵŦŻŤǭů œŻŭł ŬŴŭŴ Ũŷ ŝũŮ ő ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ 

ŬţŴǷŻū F�ő��C ũ ŹȲ ȺŴŭŴ ŵŦŻŤǭů œŭŴ ŲŻƃŻřł  
 ŬŴŭŴ Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ F ŲŻŮ, nሺFሻ = 35 ŏũŅ ŬŴŭŴ ŵǷŻœŝ ǮŔŮŴ ŧƦɃ œŻŭ ŢŴŻŤŭ Ǯűŝ C ŲŻŮ, nሺCሻ = 25, 

ŬŴŭŴ ŋŪƃ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ B ŲŻŮ, B = 20  
 ∴ ŬŴŭŴ ʣťŷ Ũŷ ŝũŮ ǮŔŮŴ ŧřɃ œŻŭ = nሺFሻ െ nሺF ∩ Cሻ = 35 െ 20 = 15 

∴ ŬŴŭŴ ʣťŷ ŵǷŻœŝ ǮŔŮŴ ŧřɃ œŻŭ = nሺCሻ െ nሺF ∩ Cሻ = 25 െ 20 = 5 
 ∴ ŬŴŭŴ ǮŬŻœŴŻŦŴ ŏœŵŝ ǮŔŮŴ ŏũŅ ŋŪƃ ǮŔŮŴ ŧřɃ œŻŭ ŢŴŻŤŭ Ǯűŝ A ŲŻŮ, A  
 = 20 ൅ 15 ൅ 5 = 40 ŚŦł 
 ∴ ʢŵŝŉ ǮŔŮŴŉ ŬŴŭŴ ŧřɃ œŻŭ ŦŴ (ŇţǭŴˊ ŏœŵŝ ǮŔŮŴő ŧřɃ œŻŭ ŦŴ� = nሺUሻ െ nሺAሻ = 50 െ 40 = 10 
 ∴ ŵŦŻšǭƃ ŵůǸŴţǭŶŭ űŅŔǪŴ 10 ŚŦł  
 

 উŧŻűট (Subset):

 A = ሼa, bሽ ŏœŵŝ Ǯűŝł ŏŉ ǮűŻŝŭ ŋŧŴŤŴŦ ǮţŻœ ሼa, bሽ, ሼaሽ, ሼbሽ ǮűŝʜŻŮŴ ŕŞŦ œŭŴ ƃŴƃł ňũŴŭ ǮœŴŻŦŴ ŋŧŴŤŴŦ ŦŴ ŵŦŻƃ ŨŴńœŴ 
Ǯűŝ ũŴ ∅ ŕŞŦ œŭŴ ŬŴƃł ŏŔŴŻŦ, ŕŵŞŢ ሼa, bሽ, ሼaሽ, ሼbሽ, ∅ ɓŻŢǪŻœ A ǮűŻŝŭ ŋŧŻűŝ  ʟŢŭŴŅ, ǮকŴŻŦŴ ǮűŻটŭ উŧŴদŴŦ ǮţŻক ŬতʜŻŮŴ 
Ǯűট গŞŦ কŭŴ ŬŴƃ, এŻদŭ ɓŻতǪকŵট ǮűটŻক ঐ ǮűŻটŭ উŧŻűট ũŮŴ Ųƃ। উŧŻűট ɓকŴŻůŭ ŵিʕ ⊆ । 

 ūŻŦ œŵŭ, A ő  B ʢŵŝ Ǯűŝ  ŏũŅ B Ǯűŝ A ǮűŻŝŭ ŋŧŴŤŴŦ ȺŴŭŴ ŕŵŞŢ, ŢŴŲŻŮ B Ǯűŝŵŝ A ǮűŻŝŭ ŋŧŻűŝ ŲŻũł ŵŮŔŴŭ űūƃ B ⊆ A 
ŏŪŴŻũ ǮŮŔŴ Ųƃ ŏũŅ ŧƁŴ Ųƃ "B is a subset of A." ňũŴŭ ŋŧŻŭŭ ŋŧŻűŝʜŻŮŴŭ ūŻťǪ ሼa, bሽ Ǯűŝŵŝ A ǮűŻŝŭ űūŴŦ  ŇţǭŴˊ 
ǮŬŻœŴŻŦŴ ǮűŻŝŭ űũʜŻŮŴ ŋŧŴŤŴŦ ŵŦŻƃő ŏœŵŝ ŋŧŻűŝ ŕŞŦ œŭŴ ŬŴƃ ł ňũŴŭ ǮŬŻœŴŻŦŴ Ǯűŝ ǮţŻœ ǮœŴŻŦŴ ŋŧŴŤŴŦ ŦŴ ŵŦŻƃ ŨŴńœŴ 
Ǯűŝ ŕŞŦ œŭŴ ŬŴƃł œŴŻŚŉ ∅ ǮŬŻœŴŻŦŴ ǮűŻŝŭ ŋŧŻűŝ  ŋŻɫŔǪ, ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŻűŻŝ ŏūŦ ǮœŴŻŦŴ űŤűǪ ţŴœŻŢ ŧŴŭŻũ ŦŴ ǮŬŝŴ 
ūŸŮ ǮűŻŝŭ űŤűǪ ŦŴł ǮŔƃŴŮ œŭ, ŬŵŤ B ⊆ A�ሺB��is�a�subset�of�Aሻ Ųƃ ŢŴŲŻŮ ʢŉŵŝ ŖŝŦŴ ŖŝŻŢ ŧŴŻŭ  
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(i) B Ǯűŝ ŕŞŻŦ A ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ ţŴœŻŢ ŧŴŻŭł ŢŔŦ A ő B ūŸŮŢ ŏœŉ Ǯűŝ ŵŦŻŤǭů œŭŻũ ŏũŅ Ǯűŝ ʢŉŵŝ ŧŭʋŭ űūŴŦ 
ŲŻũ  

  
(ii) B Ǯűŝ ŕŞŻŦ A ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ ŦŴ ŵŦŻƃ ŵœřŷ ŋŧŴŤŴŦ ǮŦőƃŴ ǮŬŻŢ ŧŴŻŭł ǮűŻǸŻȳ B ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ A ǮŢ ţŴœŻũ 

ŵœɁŷ  A ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ B ǮŢ ţŴœŻũ ŦŴł ŇţǭŴˊ, B ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ A ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŲŻŢ œū ŲŻũł ŖŝŦŴŵŝŭ 
ǮŪŦŵŘȳ ŵŦɠʡ  

 

 
 

 
  

� ŨŴ󏿿কŴ ǮűŻটŭ ǮকŴŻŦŴ উŧŻűট আŻছ? 
 উȲŭ: ňŻř, ŢŻũ Ǯűŵŝő ŨŴńœŴ Ǯűŝ ł ŇţǭŴˊ, ŨŴńœŴ Ǯűŝ ŵŦŻŚŉ ŵŦŻŚŭ ŋŧŻű  
 

� অűŶū Ǯűট ŵক ǮকŴŻŦŴ ǮűŻটŭ উŧŻűট ŲŻত ŧŴŻŭ? 
 উȲŭ: ʛŴń, ŧŴŻŭ, ŵœɁŷ  ŇűŶū Ǯűŝ ǮŬŉ ǮűŻŝŭ ŋŧŻűŝ Ǯűŵŝő ŇűŶū Ǯűŝ ŲŻũł ǮŬūŦ, ℕ = ሼ1, 2, 3, … . . ሽ űœŮ ʍŴŪŴŵũœ űŅŔǪŴŭ 

Ǯűŝł ňũŴŭ, ℤ = ሼ… , െ3, െ2, െ1, 0, 1, 2, 3, … ሽ. ℕ ő ℤ ŋŪŻƃŉ ŇűŶū Ǯűŝ ŲŻŮő ℕ ŏŭ űœŮ ŋŧŴŤŴŦ ℤ ŏŭ ūŻťǪ ŵũŤǪŴūŴŦł 
ŢŴŉ ℕ, ℤ ŏŭ ŋŧŻűŝ ŲŻũł ŇţǭŴˊ ℕ ⊆ ℤ. 

 ŏœŉŪŴŻũ űœŮ ŧŸšǭűŅŔǪŴ ŢţŴ ℤ ũŴʈũ űŅŔǪŴŭ Ǯűŝ ℝ ŏŭ ūŻťǪ ŵũŤǪūŴŦł ŢŴŉ, ℤ ⊆ ℝ 
 

 ɓকŹত উŧŻűট (Proper Subset):  
 ňūŭŴ ǮŤŻŔŵř ǮŬ, ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŻűŝűūŸŻŲŭ ŋŧŴŤŴŦ űŅŔǪŴŭ Ő ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ űūŴŦ ŇţũŴ ŢŴŭ ǮŘŻƃ œū ŲŻũł ǮŔƃŴŮ 

œŭ, A = ሼa, bሽ ŏŭ ŋŧŻűŝűūŸŲ ሼa, bሽ, ሼaሽ, ሼbሽ, ∅. ŏŭŉ ŘŴŭŵŝ ŋŧŻűŻŝŭ ūŻťǪ Ɖū ŵŝ ūŸŮŢ A ǮűŝŻœŉ ŵŦŻŤǭů œŭŻřł ũŴŵœ ŵŢŦŵŝ 
ŋŧŻűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ A = ሼa, bሽ  ŏŭ ŋŧŴŤŴŦ űŅŔǪŴ ŲŻŢ œū  ŏŻǸŻȳ Ő ŵŢŦŵŝ ǮűŝŻœ A ǮűŻŝŭ ɓœŹŢ ŋŧŴŤŴŦ ũŮŴ ŲŻũł 
ŇţǭŴˊ ǮœŴŻŦŴ Ǯűŝ ǮţŻœ ŕŵŞŢ ŋŧŻűŝ űūŸŻŲŭ ūŻťǪ ǮŬ ŋŧŻűŝʜŻŮŴ  ŋŧŴŤŴŦ űŅŔǪŴ ɓŤȲ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ŇŻŧǸŴ œū 
ŢŴŻŤŭŻœ ɓœŹŢ ŋŧŻűŝ ũŻŮł 

 

 ŋŧŻűŻŝŭ�ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ Ő ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴŭ űūŴŦ ũŴ œū ŲŻũ, ŵœɁŷ  œŔŻŦŴŉ Ǯũŵů ŲŻũ ŦŴ  
 

 ǮজŻŦ ŭŴŻŔŴ 

ūŻŦ œŻŭŴ, ǮŢŴūŴŭ œŴŻř ŵŢŦŵŝ ŖŦ ňœŹŵŢŭ ũǳ ňŻř ŏœŵŝ 5 Ǯű.ŵū.  ŏœŵŝ 10 Ǯű.ŵū.  ňŻŭœŵŝ 15 Ǯű.ŵū.  
ťŴŭ ŵũŵůɽł ŏŔŦ 10 Ǯű.ŵū.  ťŴŭ ŵũŵůɽ ũǳŵŝŻœ ŏũŅ 15 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũǳŵŝŭ ŵŪŢŻŭ ŏũŅ 5 Ǯű.ŵū. 
ťŴŭ ŵũŵůɽ ũǳŵŝŻœ 10 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũŻǳŭ ŵŪŢŭ ʉŴŧŦ œŵŭł 
ŏŔŦ ŵŘɁŴ œŻŭŴ, 5 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũǳŵŝ 10 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũŻǳŭ ŵŪŢŻŭ ŏũŅ 10 Ǯű.ŵū. ťŴŭ ŵũŵůɽ 
ũŴǳŵŝ 15 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũŻǳŭ ŵŪŢŻŭ ňŻřł ʟŢŭŴŅ, ŵŘȳ ŲŻŢ ŏœŵŝ ŵũŰƃ ʋɽ ǮŬ, 5 Ǯű.ŵū. ťŴŭ ŵũŵůɽ 
ũǳŵŝő 15 Ǯű.ŵū. ťŴŭ ŵũŵůɽ ũŻǳŭ ŵŪŢŻŭ ňŻřł ǮűŻŝŭ ǮǸŻȳŭ ŋǶ ŵũŰƃŵŝ ɓŻŬŴŚ   
ňũŴŭ ťŵŭ, ŵŢŦŵŝ Ǯűŝ P, Q ő R ŏŭ ūŻťǪ, P ⊆ Q ő Q ⊆ R Ųƃ, ŢŴŲŻŮ P ⊆ R ŲŻũł ŵũŰƃŵŝ ɓţŻū ňūŭŴ ǮŪŦŵŘȳ ǮţŻœ ũŷśŴŭ ǮŘɽŴ
œŭũ ŏũŅ ŢŴŭŧŭ ŏœŵŝ ŋŤŴŲŭŻšŭ űŴŲŴŬǪ ŵŦũł 

 

 
 P = ሼ1ሽ, Q = ሼ1,2ሽ ő R = ሼ1, 2, 3ሽ ŲŻŮ, P ⊆ Q ő Q ⊆ R. ňũŴŭ, P ⊆ R. 
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ǮœŴŻŦŴ Ǯűŝ B, A ŏŭ ɓœŹŢ ŋŧŻűŝ ŲŻŮ B ⊂ A�ሺB�is�a�Proper�subset�of�Aሻ ŵŮŻŔ ɓœŴů œŭŴ Ųƃł  
 (i) ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ n ŲŻŮ, Ő ǮűŻŝŭ ŋŧŻűŝ űŅŔǪŴ = 2୬  
 (ii) ɓœŹŢ ŋŧŻűŝ űŅŔǪŴ = 2୬ െ 1. 
 

� ŨŴ󏿿কŴ ǮűŻটŭ ǮকŴŻŦŴ ɓকŹত উŧŻűট আŻছ? 
 উȲŭ: ŨŴńœŴ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ůŸɎł ǮŬŻŲŢŷ , ǮœŴŻŦŴ ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ ōšŴȮœ ŲŻŢ ŧŴŻŭ ŦŴ, ŢŴŉ ŨŴńœŴ Ǯűŝ ǮţŻœ ŏūŦ 

ǮœŴŻŦŴ ŋŧŻűŝ ũŴŦŴŻŦŴ űɤũ Ŧƃ ŬŴŭ ŋŧŴŤŴŦ űŅŔǪŴ ůŸɎ ǮţŻœ œūł ŢŴŉ ŨŴńœŴ ǮűŻŝŭ ŋŧŻűŝ ţŴœŻŮő (∅ ŵŦŻŚŉ ŵŦŻŚŭ ŋŧŻűŝ) 
ǮœŴŻŦŴ ɓœŹŢ ŋŧŻűŝ ǮŦŉł 

 

 ǮŬūŦ: A = ሼ3, 5, 7ሽ ŏũŅ B = ሼ5, 3, 3, 7ሽ ŧŭʋŭ ʢŉŵŝ űūŴŦ Ǯűŝ ŏũŅ ŏŵŝ A = B ŵŘʕ ȺŴŭŴ ǮŮŔŴ Ųƃł ʢŉŵŝ Ǯűŝ A ő B ŲŻŮ 
A = B ŲŻũ ŬŵŤ ő ǮœũŮ ŬŵŤ A ⊆ B ő B ⊆ A Ųƃł  

 

 
 ǮŔƃŴŮ œŭ, A ⊆ B ŏŭ ūŴŻŦ ŲŻŮŴ A ŏŭ űūʈ ŋŧŴŤŴŦ B ǮŢ ňŻřł ŵœɁŷ  B ŏŭ űūʈ ŋŧŴŤŴŦ A ǮŢ ŦŴő ţŴœŻŢ ŧŴŻŭł ŇţǭŴˊ, A 

ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ řŴƁŴő B ǮűŻŝ ŵœ ŷ ŇŵŢŵŭǶ ŋŧŴŤŴŦ ţŴœŻŢ ŧŴŻŭ, ňũŴŭ ŦŴő ţŴœŻŢ ŧŴŻŭł ŇʞʡŧŪŴŻũ B ⊆ A ŏŭ ūŴŻŦ 
ŲŻŮŴ B ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ A ǮűŻŝ ţŴœŻũŉ, ŧŴůŴŧŴŵů ŵœřŷ ŇŵŢŵŭǶ ŋŧŴŤŴŦ ţŴœŻŢ ŧŴŻŭ, ŵœŅũŴ ŦŴő ţŴœŻŢ ŧŴŻ  

 ŏŔŦ ňūŭŴ ŬŵŤ A ⊆ B ŏũŅ B ⊆ A ůŢǭ ʢŉŵŝ ŏœűŴŻţ ɓŻƃŴŕ œŵŭ ŢŴŲŻŮ A ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ B ǮűŻŝ ŵũŤǪūŴŦ ţŴœŻũ ŏũŅ 
ŏœŉűŴŻţ  B ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ A�ǮűŻŝ ŵũŤǪūŴŦ ţŴœŻ  ŏŻǸŻȳ ǮœŴŻŦŴ ǮűŻŝŉ ŇŵŢŵŭǶ ŏūŦ ǮœŴŻŦŴ ŋŧŴŤŴŦ ţŴœŻũ ŦŴ ŬŴ 
Ňŧŭ ǮűŻŝ ǮŦŉł ŢŔŦ ŇũůǪŉ A = B ŲŻũł 

 A ⊆ B ŏũŅ B ⊆ A ŲŻŮ,  
 ሺiሻ ő ሺiiሻ ŏŭ űŴťŴŭš ŖŝŦŴ ŇţǭŴˊ, A = B ŧŴőƃŴ ŬŴŻũł 

 
  ňũŴŭ, ŵŢŦŵŝ Ǯűŝ A = ሼ3, 5, 7ሽ, B = ሼ5, 3, 3, 7ሽ ŏũŅ C = ሼ7, 7, 3, 3, 5ሽ ŲŻŮ, A = B = C ŲŻũł 
 ǮŬŻŲŢŷ  ǮűŻŝŭ ŋŧŴŤŴŻŦŭ ŧŷŦŭŴũ ŹŵȲ œŭŻŮ ŵœŅũŴ ŢŴŻŤŭ ʉŴŦ ŧŵŭũǭŢŻŦ ǮűŻŝŭ ǮœŴŻŦŴ ŧŵŭũŢǭŦ Ųƃ ŦŴł ŢŴŉ,  
 B = ሼ5, 3, 3, 7ሽ = ሼ3, 5, 7ሽ; C = ሼ7, 7, 3, 3, 5ሽ = ሼ3, 5, 7ሽ 
 ∴ A = B = C 
 A ≤ B ŲŻŮ, nሺAሻ ≤ nሺBሻ 
 A < B ŲŻŮ, nሺAሻ < nሺBሻ 

Example-06: ۯ = ሼ܉, ,܊ ,܋ ,܌ ;ሽ এŭ ɓকŹত উŧŻűŻটŭ űংŔǪŴ কত? [Ŭ.ǮũŴ�’ƊƋ; ŵদ.ǮũŴ�’ƊƋ,ƊƊ,Ɗƈ; ũ.ǮũŴ�’ƊƊ,Ɗƈ܍ .˃ǮũŴ�’ƊƊ; ি.ǮũŴ�, ŵű.ǮũŴ�’Ɗƈ]  
űūŴধŴŦ: nሺAሻ = 5 ∴�ŋŧŻűŝ űŅŔǪŴ  = 2୬ሺ୅ሻ = 2ହ = 32  

 ∴�ɓœŹŢ ŋŧŻűŝ űŅŔǪŴ = 32 െ 1 = 31 

Example-07: ۯ = ሼ܉, ,܊ ,܋ ,܌ ሽ܍ উŧŻűটʜŻŮŴ ŵŦšǭƃ কŭ। 
űūŴধŴŦ: ŋŧŻűŝʜŻŮŴ ŵŦɠʡŧ: 

 ϕ, ሼaሽ, ሼbሽ, ሼcሽ, ሼdሽ, ሼeሽ, ሼa, bሽ, ሼa, cሽ, ሼa, dሽ, ሼa, eሽ, ሼb, cሽ, ሼb, dሽ, ሼb, eሽ, ሼc, dሽ, ሼc, eሽ, ሼd, eሽ, ሼa, b, cሽሼa, b, dሽሼa, b, eሽ 
 ሼܽ, c, dሽ, ሼa, c, eሽ, ሼa, d, eሽ, ሼb, c, dሽ, ሼb, c, eሽ, ሼb, d, eሽ, ሼc, d, eሽ, ሼa, b, c, dሽ 
 ሼa, b, c, eሽ, ሼa, b, d, eሽ, ሼa, c, d, eሽሼb, c, d, eሽ, ሼa, b, c, d, eሽ  

 

űūŴŦ Ǯűট: ŬŵŤ ʢŉŵŝ ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ ŏœŉ Ųƃ ŢŴŲŻŮ, Ǯűŝ ʢŉŵŝŻœ űūŴŦ Ǯűŝ ũŮŴ Ųƃ  
 

    űংȗŴ 
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01. A = ሼ1,2,3,4ሽ ŲŻŮ, Ǯűŝ A ŏŭ ɓœŹŢ ŋŧŻűŝ œƃŵŝ" 
   [ঢŴ.ǮũŴ�’Ɗƌ] 
(a) 4 (b) 14 (c) 15 (d) 16

űūŴধŴŦ: A = ሼ1,2,3,4ሽ 
 n = 4� ∴ PሺAሻ = 2ସ = 16  
 ∴ ɓœŹŢ ŋŧŻűŝ = 16 െ 1 = 15 
02. ŵŦŻŘŭ ǮœŴŦŵŝ űűŶū Ǯűŝ?  [ũ.ǮũŴ�’Ɗƌ] 

(a) ሼx�ϵ�Z: x < 2ሽ
(b) ሼ୮

୯
: p�ő q ŧŸšǭűŅŔǪŴ ŏũŅ q ≠ 0ሽ�

(c) ሼy�ϵ�N: yଶ < 100 < yଷሽ
(d) ሼx�ϵ�Z: xଶ > 5�ŏũŅ xଷ ≤ 36ሽ   

 űūŴধŴŦ: ሼy�ϵ�ℕ: yଶ < 100 < yଷሽ 
 = ሼ5,6,7,8,9ሽ
03. A = ሼ2,3,7,9ሽ ŲŻŮ A ŏŭ ɓœŹŢ ŋŧŻűŝ œƃŵŝ?

[ঢŴ.ǮũŴ�’ƊƋ,ƊƊ]   
 (a) 7 (b) 8 (c) 15 (d) 16

űūŴধŴŦ: ŏŔŴŻŦ, n = 4 ∴ 2୬ െ 1 = 2ସ െ 1 = 15  
04. A ǮűŻŝŭ ŋŧŻűŻŝŭ űŅŔǪŴ 32 ŲŻŮ, A ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ 

œŢ?    [ŭŴ.ǮũŴ�’ƊƋ] 
 (a) 3 (b) 4 (c) 5 (d) 8  

05.  M = ሼx�ϵ�ℕ: 1 ≤ x < 6ሽ ŲŻŮ-   [˃.ǮũŴ�’ƊƋ] 
(i) M ǮűŻŝŭ ŋŧŴŤŴŦ űŅŔǪŴ 5 
(ii) M ǮűŻŝŭ ɓœŹŢ ŋŧŻűŝ űŅŔǪŴ 32 ŵŝ 
(iii) M ǮűŻŝŭ ǮūƀŵŮœ űŅŔǪŴ 3 ŵŝ 

 ŵŦŻিŭ ǮকŴŦŵট űŵŞক? 
 (a) i, ii (b) i, iii (c) ii, iii   (d) i, ii, iii

űūŴধŴŦ: ŢŴŵŮœŴ ŧȻŵŢŻŢ, M = ሼ1,2,3,4,5ሽ 
(i) űŵŞœ:  nሺMሻ = 5 

 ɓœŹŢ ŋŧŻűŝ űŅŔǪŴ = 32 െ 1 = 31 ≠ 32 
 (iii) űŵŞœ:  2,3,5 ǮūƀŵŮœ űŅŔǪŴ 
06. A = ሼ2, 4, 6, 8ሽ Ǯűŝŵŝŭെ  [ŵদ.ǮũŴ�’ƊƊ] 

(i) ɓœŹŢ ŋŧŻűŻŝŭ űŅŔǪŴ 15 
 (ii) A = ሼx�ϵ�N: x, ǮŚŴƁűŅŔǪŴ ŏũŅ x ≤ 8ሽ 
 (iii) A ǮűŻŝ 2 ȺŴŭŴ ŵũŪŴŚǪ ŋŧŴŤŴŦ űŅŔǪŴ 4ŵŝ 
 ŵŦŻিŭ ǮকŴŦŵট űŵŞক?  

(a) i, ii (b) i, iii (c) ii, iii (d) i, ii, iii

űūŴধŴŦ: ɓœŹŢ ŋŧŻűŝ = 2ସ െ 1 = 15 ŵŝ 
07. ŵŦŻŘŭ ǮœŴŦŵŝ ŇűŶū Ǯűŝ?  [ū.ǮũŴ�’ƊƊ]  
 (a) ሼx�ϵ�ℕ: x > 5ሽ (b) ሼx�ϵ�ℕ: x < 5ሽ 
 (c) ሼx�ϵ�ℕ: x ǮūƀŵŮœ űŅŔǪŴ ŏũŅ x < 2ሽ 
 (d) ሼx�ϵ�ℤ: 16 ≤ xଶ ≤ 36ሽ

 

 
 

 

ʢŉŵŝ Ǯűŝ A ő B ŲŻŮ, A ő B ŏŭ űŅŻŬŴŕ ǮűŝŻœ A ∪ B ȺŴŭŴ ɓœŴů œŭŴ Ųƃ ŏũŅ ŧƁŴ Ųƃ A űŅŻŬŴŕ B ŇţũŴ A union B. 

 

ǮũŴşǭ MCQ ő űūŴťŴŦ 

01. ǮŤŔŴő ǮŬ, űœŮ ʍŴŪŴŵũœ űŅŔǪŴŭ Ǯűŝ ŏœŵŝ ŇűŶū Ǯűŝł
02. P = ሼx, y, zሽ ŏŭ ŋŧŻűŝʜŻŮŴ ŵŮŔ ŏũŅ ǮűʜŻŮŴ ǮţŻœ ɓœŹŢ ŋŧŻűŝ ũŴřŴŉ œŭ   

[Ans: P উŧŻűটűūŸŲ ሼܠ, ,ܡ ,ሽܢ ሼܠ, ,ሽܡ ሼܠ, ,ሽܢ ሼܡ, ,ሽܢ ሼܠሽ, ሼܡሽ, ሼܢሽ, ∅; P ɓকŹত উŧŻűটűūŸŲ ሼܠ, ,ሽܡ ሼܠ, ,ሽܢ ሼܡ, ,ሽܢ ሼܠሽ, ሼܡሽ, ሼܢሽ, ∅]

03.  100 ŚŦ ŵůǸŴţǭŶŭ ūŻťǪ ǮœŴŻŦŴ ŧŭŶǸŴƃ 88 ŚŦ ũŴŅŮŴƃ, 80 ŚŦ ŕŵšŻŢ ŏũŅ 70 ŚŦ ŋŪƃ ŵũŰŻƃ ŧŴů œŻŭŻřł ǮŪŦŵŘŻȳŭ űŴŲŴŻŬǪ
ŢţǪʜŻŮŴ ɓœŴů œŭ ŏũŅ œŢŚŦ ŵůǸŴţǭŶ ŋŪƃ ŵũŰŻƃ ǮŨŮ œŻŭŻř, ŢŴ ŵŦšǭƃ œŭł  [Ans: ૛ জŦ] 

 

Try Yourself

Type-04: űŅŻŬŴŕ Ǯűŝ, ǮřŤ Ǯűŝ, ŵŦŻɴŤ Ǯűŝ ő ǮűŻŝŭ ŇɁŭ űŅǷŴɁ űūűǪŴũŵŮ 

 

 űংŻŬŴগ Ǯűট: ʢŉ ũŴ ŢŻŢŴŵťœ ǮűŻŝŭ űœŮ ŋŧŴŤŴŦ ŵŦŻƃ ŕŵŞŢ ǮűŝŻœ űŅŻŬŴŕ Ǯűŝ ũŮŴ Ųƃł 
    űংȗŴ 

űűŶū ő ŇűŶū Ǯűŝ, ǮŪŦŵŘȳ ő ŋŧŻűŝ 


